KCL

VQ Series Single Pump Ordering Code
VQ % 7| B RTHE45 5

VQI5
VQ20  SVQ25
VQ25  SVQ35
VQ35  SVQ45
VQ45  DVQ45
ORDERING CODE =7B%45 3]

VQI5 17 F R A A .01
Model number | Displacement Mounting Type | Rotation Discharge Suction Shaft Type
] 2 — . Position Position . ¥
A colrev kh®)| % # ¥ X B b oo E ey s b B4R
VQl15 6,8,11,14,17, View from | . A 01

19,23,26,31,38 Shaft End | (o ward Upward 0
oA (Normal) (Normal) i
6,8,11,14,17, Lk o -03
VQ20 19,23,26,31,
38 F: R: B: B:
Flange Type Clockwise | Downward Downward
vQas | 18222032, s | AT T
SVO25 38,43,47,52,
Q 60,65,75 R R
VO35 60.66.76,82. L I/inti- %%Right Hand ﬁ/O;%Right Hand
SVQ35 ff’gf’;o& Foot Type Clockwise
6,125 Al St L: L:
VQ45 On Left Hand On Left Hand
svods | 136,156,189, g i
DVO4s | 200216237
SINGLE PUMP WEIGHT LIST (Kg)
= =N
HEHER
VQIs | vQ20 | vQ25 | SVQ25 | vQ35 | SVQ35 | VQ45 | DVQ45 | SVQ45
Flange Type 10.3 12.3 16.7 23 36 33 52 61 66.5
Foot Type 12.7 17 21.4 31 44 41 60 92 98
Outlet & Inlet
et 0.9 0.9 1.6 1.6 2.0 2.0 32 32 32




VQ Series Max. Continuous Pressure
KCL VQ 47| /5B /13

VQ % 7| TAF & J1 3R B

_ Using anti-wear oil or Using water glycol Using water-in-oil
Model Qeometrlc Phosphate ester fluid fluid emulsions Min Speed
wy e |QISPL (o P P B BEFKZ B A K AR (tpm)
A1 55 (c.c/rev) P

= = i
& Max Pressure|] Max Speed |Max Pressure| Max Speed |Max Pressure] Max Speed Rt

(Kgflem2) | ( rpm ) | (Kgflem?) | ( rpm ) | (Kgfflem?2)| ( rpm )
= il | BREE el | BEEE Tt e

06
08
11
14
VQI15 17 210 1800 160 1200 140 1200 800
19
23
26
31 175 1500
38 1200

06
08
1
vQ20 [ 14
17 210 1800 160 1200 140 1200 800
19
23
26
31 1500
33 175 1200

18
22
26
vQ25 32
38
SVQ25[ 43
47
52
60
65
75 1500

210 1800 160 1200 140 1200 800

60
66
vQ3s |76
82 175 1800 160 1200 140 1200 600
SVQ35 38
94
108
116
125 1500

136
VQ45 156

SVQ45| 189 175 1800 140 1200 140 1200 600

200
DVQ45 316

237

1500




K C T VQ Series Typical Performance Characteristics
VQ % 7| E R 45 &

Delivery Flow (¢ /min) at no-load pressure Running Speed Max Pressure
= WS OR R i (rpm) R ( Kgflem? )
Model Running Speed (rpm) ## 2 Max Min i KB T

BL5 1000 1200 1500 1800 EZN e/ Cont. | Peak.
06 6.2 7.4 9.3 11.2 1800 800 210 240

08 8.1 9.7 12.1 14.6 1800 800 210 240

11 112 13.4 16.8 20.1 1800 800 210 240

14 14.3 17.1 21.5 25.7 1800 800 210 240

17 17.1 20.5 25.6 30.7 1800 800 210 240

VQIs 19 19.2 23.0 28.8 34.5 1800 800 210 240
23 23.3 27.9 34.9 41.9 1800 800 210 240

26 26.1 31.3 39.1 46.9 1800 800 210 240

31 31.1 37.3 46.6 — 1500 800 175 240

38 38.1 45.6 1200 800 175 230

06 6.2 7.4 9.3 11.2 1800 800 210 230

08 8.1 9.7 12.1 14.6 1800 800 210 230

11 112 13.4 16.8 20.1 1800 800 210 230

14 143 17.1 21.5 25.7 1800 800 210 230

VQ20 17 17.1 20.5 25.6 30.7 1800 800 210 230
19 19.2 23.0 28.8 34.5 1800 800 210 230

23 23.3 27.9 34.9 41.9 1800 800 210 230

26 26.1 31.3 39.1 46.9 1800 800 210 230

31 31.1 37.3 46.6 - 1500 800 175 230

38 38.1 45.6 1200 800 175 230

18 18.1 21.7 27.2 32.6 1800 800 210 230

22 22.1 26.5 33.2 39.8 1800 800 210 230

26 26.2 31.4 39.3 47.1 1800 800 210 230

32 32.1 38.5 48.1 57.7 1800 800 210 230

VQ25 38 38.2 45.8 57.3 68.7 1800 800 210 230
SVQ2s|_ 43 432 51.8 64.8 77.7 1800 800 210 230
47 47.1 56.5 70.0 85.0 1800 800 210 230

52 52.3 62.7 78.4 94.1 1800 800 210 230

60 60.2 72.7 90.3 108.3 1800 800 210 230

65 65.3 78.3 97.9 117.5 1800 800 210 230

75 75.0 90.0 112.5 S 1500 800 210 230

60 60.3 72.3 90.4 108.5 1800 600 175 210

66 66.4 79.6 99.6 119.5 1800 600 175 210

76 76.3 91.5 114.4 137.3 1800 600 175 210

VQ35 82 82.2 98.6 123.3 147.9 1800 600 175 210
SVQ35 88 88.3 105.9 132.4 158.9 1800 600 175 210
94 94.5 113.4 141.7 170.1 1800 600 175 210

108 108.2 129.8 162.3 194.4 1800 600 175 210

116 116.1 139.3 174.1 208.9 1800 600 175 210

125 124.6 149.5 186.9 S 1500 600 175 210

136 136.8 164.0 204.0 246.0 1800 600 165 175

VQ45 156 156.2 188.0 234.0 280.0 1800 600 165 175
189 189.5 227.0 284.0 340.0 1800 600 165 175

SVQ4S ™00 200.0 240.0 300.0 360.0 1800 600 165 175
DVQ45| 216 216.0 260.0 324.0 S 1500 600 165 175
237 237.0 285.0 355.0 — 1500 600 165 175




KCL

VQ Series Single Pump Dimensional Drawing

VQ 27| &R IR T E

VQ25

Max. Pressure: 230 Kgf/cm *(Peak)

222

4-¢13.5 HOLES

83

@21 SPOT FAC];:R 1 DEEP

Max. Speed: 1800 rpm _
DISCHARGEPORT 925 "@' I E
SUCTION PORT @39 3 43 2
- R B |4
O
© e'\ Eiss T Tii
2 \) T 3 60 7 2
\e 115 38
t% / J 4-M10x1.5P-DEEP 18 Foot Type (87 & A1)
35.7
e
4-M12x1.75P-DEEP 19 NO.04-Shaft A B ¢C|E
16/32d.p. -13 NO.01-Shaft |#22.23 24.5 | 635 50.5
teeth 30° NO.02-Shaft [625.4 | 28.18] 6.35] 50.5
pressure angle NO.03-Shaft [ 830 | 33 | 7 | 59
Flat root side fit. [NO.04-Shaft | Spline shaft
162.5
171
83 38.1 9.5 q . 146
b o
ST VT < 4 1
o 18 : : 7
. . f N
2 | : oo
| 2 N \Z/ s
2-813.5 HOLES
@21 SPOT FACER 1 DEEP
-3
2
SVQ25 Max. Pressure: 230 Kgf/cm™ (Peak) 238 4-617.5 HOLES
Max. Speed: 1800 rpm 83 381 59.5 | 1926 SPOT FACER 1 DEEP
—F— =2 ] D
‘E‘ J'I / \
|
]._.‘; P =
DISCHARGE PORT P1 25 4-M10X1.5P-DEEP 18 |:'r- Ng py PV I=
SUCTION PORT $39 — B I g
L& i i > i
\\ ] +5 76.2 73 I 151
F © (%5 131 _pas 175 | 175
/] o N - | < 274
NVARRE BRYARD ol
ole oo )
( INE Foot Type (% #! )
4-M12X1.75P-DEEP19 26.2 . NO.04-Shaft A B C | E
16/32 d.p. -13 NO.01-Shaft [#22.23| 24.5 | 6.35]| 50.5
teeth 30° NO.02-Shaft [¢25.4 | 28.18| 6.35| 50.5
pressure angle NO.03-Shaft | 30 33 7 | 59
1785 Flat root side fit.  [NO.04-Shaft| Spline shaft
83 38.1| 95 4 d
28<3 211
| I — [ < m 181

D127 905

leo

D T RS2
NP
2-¢17.5 HOLES \/

(=3
0

720 Jan 7any

826 SPOT FACER 1 DEEP

N




KCL

VQ Series Single Pump Dimensional Drawing

VQ % 7| 8 RSN R T B

VQ35

Max. Pressure: 210 Kgf/cm*(Peak)

Max. Speed: 1800 rpm 279 4-817.5 HOLES
90 12 $26 SPOT FACER 1 DEEP
21 e | D
DISCHARGE PORT 830 4-M10X1.5P_DEEP 19 E‘ B J
SUCTION PORT 856 \ R § = =
(] S M7 I
% 1 TS 1=/ \n
?r( < / H 43
’ \ ~ =
i \ N \ —1 = i - TiT
- \L/ &:J/ ! o 762 | _ 88 | 151 B
T 40 131 50 | 117.5__|_ 1175 |
\ i 274
<
429 55.2
0.2 79 |, 238 Foot Type (fy i 2! )
4-M12x1.75P DEEP 19
] 23452 NO.03-Shaft A B C
12/24 d.p.-14 NO.01-Shaft [#31.75] 35.32| 7.95
= teeth 30" pressure  |[NO.02-Shaft [#34.9 | 38.56 | 7.95
s angle Flat root NO.03-Shaft | Spline shaft
279 side fit. 213
90 37 g o
75 3|7
F e
S _ 47 o
23
£ = 5 E
3 )
& |
7 o 2-¢17.5 HOLES
26 SPOT FACER | DEEP
2
SVQ35 Max. Pressure: 210 Kgf/cm “(Peak) 278 48175 HOLES
Max. Speed: 1800 rpm 97 12 26 SPOT FACER 1 DEEP
s [] @
DISCHARGE PORT #30 2L E_ NEER |J‘.|
9 4-M10X1.5P DEEP 19 ]v—ll
SUCTION PORT #56 — = |
rg .8 N 3
H +U. L L Th‘ =+ 'U‘ -é} 1+r
& 1762 | 88 T 151 e
* / \ N \ — N—1 = 131 | 50 | 117.5 | 1175 |
= \\J Nl ) o i
ﬁl § |/
% ; B Foot Type (% )
\
429 l—302
4-M12x1.75P DEEP 19 A B C
NO.01-Shaft |831.75] 35.32| 7.95
NO.02-Shaft [#34.9 | 38.56| 7.95
278 213
97 37 gl o 181
' 75 3|99
(g" i i T— r 63 <| m —
= 47
X _ |__, -
® [ 23 o /\ ~
= H 5 A N Al o
% > I‘9 2-¢17.5 HOLES
$26 SPOT FACER 1 DEEP - _ -13




VQ Series Single Pump Dimensional Drawing

KCL VQ % 7| 8 R 5N R T B

. 2
Max. Pressure:175 Kgf/cm™ (Peak) 323 SPOT JF A CER T DEEP

SVQ45 Max. Speed: 1800 rpm o [ S [ l,
5T Ty

R
E 5 [—4
A — Foot Type (B & %! )

13 b\l—j I m,
4-M16x2.0P_DEEP 19 | | 8
61.9 357( | e
SUCTION PORT 875 3 3 =
) ®
\ . 5
2 T S (T] mil
;; _6;\ ]49_ b s 114.3 280
by 39
3 \ /N ) 374.6
- &6\\/ UZ »
.

4-M12X1.75P DEEP 19

DISCHARGE PORT @38
390 273
166.5 131 228.6
50 81
gl o«

TE | 0
. I ;‘ \ol l’f\\\ ! 1’/\\\
] JH 65 5 S N4 N>

218

%}%

@152.4 -0.05

+0
140
PRE:
Qy
228.6

(Ot

4-¢22 HOLES
©35 SPOT FACER 1 DEEP






